Worksheet

1.  Show how the Parallel Prefix algorithm would work on the following array; draw the tree and, for each node, show the left, right, sum & fromLeft values.  Use a sequential cutoff of 2.

	Index
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	Value
	7
	4
	3
	9
	8
	2
	1
	5
	6
	3
	5
	1
	8
	7
	5
	1


2. a. Draw the graph represented by these vertices {a,b,c,d,e,f} and these weighted edges {(a,b): 3, (a,c): 7, (b,c): 6, (b,d): 2, (c,d): 1, (c,e): 1, (c,f): 2, (d,f): 4, (e,f): 3}
b.  Run Dijkstra’s algorithm on this graph to find the shortest weighted path from ‘a’ to each other vertex.

c. What’s the problem with using Dijkstra’s algorithm for a graph with a negative cycle?

d.  Give an example graph showing where Dijkstra’s algorithm can fail to find the correct shortest path when negative weights are present, even if there is no negative cycle.

